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UGC NET PAPER 3 JANUARY 03, 2017 SHIFT 1 ECONOMICS QUESTION PAPER

Note ¢ This paper contains seventy five (75) objective type questions ol two (2) marks each.

tn

All questions are compulsory.

Which among the following 1s/are true for a Cartel 7

I [t aims at maximising ol mdividual firm’s profit.

[1. Tt decides the total output in the industry to which Cartel represents .
I[TI. Tt does not fix the price at which members sell their output.

Answer from the code below :

(1y Allare true. (2)  Tand IT are true.

(3} Only II 15 truc. (4)  Only I and IIT are truc.

Why does demand curve have a negative slope ?

I Due to income effect only [I.  Due to substitution cttect
Answer [rom the code helow :

(13 BothIandII (2) OnlyI

(3)  Only Il (4)  Neitther I nor I

In the entry prevention model of Bain, firms charge premium over

(1) Long penod competitive price (23 Short pertod compeltitive price
(3) Lowcst average cost (4)  None of the above

Which among the following is not well matched 7

(roods Nature
(1) Fishing in the laree lake —  Non-cxclusive but rival
(2) Alr —  Non-exclusive and non-rival
(3) Use of a light house —  Rival
() Stock of washing machines —  Exclusive

The slopce of the production possibility curve 1s the
(1) marginal rate of exchange

(2} margimal rate of substitution

(3) avcrage rate of transformation

(4)  marginal rate of transformation
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Labour supply betore
Real immigralion
WHRC ;
"W Labour supply after
| Hnneration
W =
Oy .

Employment
The gain in prolit income rom an mcerease m immigration according to this diagram is
(1} thcarca BDL'L
(23 thc arca of WBDW
(3) the areas WBFW and FDIL.'L. together
(4} thc arcas WBDW' and FDL'L togcther

The demand for rare paintings, and rare stamps cte. 1s cxplained by which among the
following effect ?

(1) Snobellect (2}  Bandwagon ellect

(3} Vcblen effect (4) None of the above

A market 1s said to be cconomically cfficient it it maximises
(1) consumer surplus

(2} producer surplus

(3) aggrcgate of consumer and produccr surplus

(4)  None ol the above

Who among the lollowing economists are associaled with the concept of Quast rent ?
E: A. Marshal
. J. Robinson
[II.  D. Ricardo

Answer Irom the code below :

(1y  Only I and III (2)  Tandll
(3} All the three (4)y  Only III
In the adjoining diagram, which of the line represent law of returns ?
I
Y
\ .
(T}.’l]]ilﬂl \\ \/
13 \K-‘_____ a
o
K S
%
O D Labour
(ly OA (2 BC

(3) DE (4y  Both (2) and (3) abovce
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In the adjacent diagram, which of the following cffeets will alter the Aggeregate Demand
Curve ADD ?

%7
Price
level
AD
X
O Income
(1) Trade elfect (2y  Liguidity ellect
(3y  Wealth ellect (4y  All ol the above
Match List — T with List — 11
List -1 List —IT
a.  Keynes 1. Interest s real phenomenon.
b. TIrving Fisher 1. Interest 1s non-monetary phenomenon.
. Wicksell . Interest 15 both monetary and non-

monctary phenomcnon.
d. Classical Economist v, Interest is monctary phenomenon.
Sclect the correet answer from the codes given below

Codes :

a b & d
(1) v i1 11 1
(2) 1 11 11y

Gy v i i i
4y i i v i

1973 o1l crists also triggered a wide spread economic erisis in USA and some European
nations. In this context which statements are true ?

(1y It led to distllusionment with established policies based on Keynesian economices.
(2)  There cmerged a malady known as stagflation.

(3)  New classical cconomics emerged as a challenge to Keynesian cconomic ideas.

(4y  All of the above arc truc .

As per IS-LM framework, an increase in government expenditure will result n
(1} 1ncreasc in income and interest rate both,

(2) 1ncreasc in income only.

(3} decreasc in investment and interest rate both.

(4) dccreasc in income and interest rate both,

Which of the following can be considered as leakages in the force of the multiplier ?
(1}  Higher propensity to import (2)  IHigher marginal propensity to save
(3) Both (I)and (2) abovc (4)  Neither (1) nor (2) above



www.prepp.in

11, Runw e ¥ WEafaias 9 @ s 91 9 Tk T 956 AD Rl uialfad s o

b

Hed &1

(1) =AM 94914

(3) TR gTE

~

L=

. a“ 373
b, -?r‘-:q] hcﬁ 1

e

c. T°

i’

™

T - T

()

LA T
ST Tl

4. FNEehe] STH9IE

AT — | 3R G — [1 %I GHied HIT

= - 11
5T aalass I § |

ST 3715 TEZAT & |

STST Hilgeh AT AR5 WE2T <1 & |
=TT Hilgeh e & |

FLm o, . £
=Tl 150 70 el | 8l 3T T

ohd
(D
(2)
(3)
(4)

1973 & T Gehe 7 STEHT 27T F g o AT W S SN Th 9 S AT | 39w
T T O hT TR 0

<

v

k%

1l
1l

11

L
i
i
11

1%

(1) = HROT el o AT T STETRA T AMa] § TEeT 5277 |

(2)  SFERTE-THI ATTF 20 e 2 g |

(3) o] o ST oAl ol 911 & & H T8 Foleehe STeereretl o EHrd g |
(4) IUFT 9T TR E

d
i
v
]

1]

37T% TH-UST U0 U0 o 2R SIHRT &9 T ghg o TROTHEEY #9471 &0 9
(1) A 3R =1 2T 341 5 g grT |

(2) A AT Flg B

(3)  Te9T 3T =0T 5T &A1 § FHET g0 |

(4) 2T I A R 9 FHE A

FrAfetiad & 9 & ToRF 99re 1§ e & 9 9 T ST ST § 7
(1) AT 1 S=eeE T
(3) IUgFE (1) IR (2) =

T T T e WA TG
ST (1) AR (2) H FE T8l

prepp

Your Personal Exams Guide



www.prepp.in

20,

21.

According to Robinson-Uzawa theorem, stcady statc growth is possible if the technical
pProgress 1s :

(1y only Hicks neutral (2} only Harrod neutral

(3) only Solow ncutral (4y  Both Hicks and Harrod ncutral

Which onc of the following 1s not an assumption of permanent income hypothesis 7
(1) Transitory income can be both positive and negative.

(2)  Permanent income depends on human and non-human wcealth.

(3)  Transitory consumption can be both positive and negative,

(4)  Average propensity o consume 1s greater than marginal propensily to consume.

The Accelerator model predicts that changes i investment are determined by the changes
in

(1y Interest (2)  Outpul

(3)  Capital (4) Inventory

Which among the following stalements are true for Schumpeter’s theory ol economic
development ?

I; Development s evolutionary.

[I.  Devclopment is financed by rcal savings.

[TI.  Capitalism keeps its character intact overtime,

Of the above which statement(s) is/arc truc 7 Answer from the code below .
Codes :

(1y Onlyl (2} Only Tand 11

(3)  All the above (4)  Nonc of the above

Who among the following has not given his model based on the concept of unlimited
supply of Tubour ?

(1) D.W. Jorgenson (2)  Rams-Fel
(37 W.A Lewis (4y  Gunnar Myrdal

Which aspect of cconomic development did Gunnar Myrdal concentrate upon ?
(1) Caputal scarcity (2} Human resource scarcily

(3)  Regional incqualities (4)  Population cxploitation

prepp

Your Personal Exams Guide



www.prepp.in 'repp

16.

19,

Your Personal Exams Guide

AT -3 W o6 STER 4K gy e ol Sve 2l Sa Jeen] o

(1) HaeT Eoa deeT &l | (2) A Gl TR |

(3) e WA T | (4) T 3N 20T 2w I 2 |

[eeTiEd T o 3 T 3T UNeReTH] 1 Oral el 6 2

(1) STrE Y e 21T 0T <11 &1 Tl € |

(2) TIET AF AFEE T TR-AHEE T W R Sl §

(3)  TTITE STUNT CFIEEeR 3T TOTMeHE ST 61 Tl & |

(4) I I N AT TG IUN I F G vEhT o s g §

e Hiee eteEd TohTs TEa o 2190 (9891 § 0iee = [9aror s ‘J:__*-“J{EFM"FF A &
{1y =74 (2)y  ST9E=

(3) = (4) T g

o

FIPITE o [aeh ST o e T MHfeIiEd A I & &
[ [oehE mueEm s e |

1. ToeRTe 1 ol ardiass gad g1 2 & |

(1. YSiars F9amie S0 W 3969 W@l ¢ |

ST T A AH U Hed 5% 0 9 o %2 W 3 S

E A

=

(1) aeT | (2) el | a9gr Il

(3) I B4l (4) 3ITET 9 FE o

FefeaEa O O e SRIeE 7 STEaa S/ $Md S ST UT ST e Higel Tl &
77
(1) S 35g. ST (2) 199 FE

(3) o539, Al (4) TER mEE

T feiel = anféres faerma < [ Tae] T € ohisd fopar

(1) U= getgar (2) TS TETEA gerddl

(3) & fEsmant (4) o faeme



www.prepp.in

22,

20,

Fei-Ranis's theory of cconomic development is bascd on
(1} dualistic approach to development

(2)  presence ol disguised unemployment

(3) 1mportance of agricultural development

4y All ol the above

Andre Gunder Frank, a myjor dependency theorist suggests that the following economic
activities have contributed to underdevelopment :

(1)  Replacing indigenous cnterpriscs with technologically more advanced, global,
subsidiary companies.

(i)  Closing the cconomy to trade with, and investment from, developed countrics.,
(1) Workers migrating from villages to foreign domimated urban complexes.
(1v) Forming an unskilled labour force to work 1n factories and mines and on plantations.

Choose the correct answer {rom the codes given below :

Codes :
(1) (1), (111) and (iv) (2y (1), (11) and (i11)
(3y (1), () and (1v) (4y (1), (1), () and (1v)

In & Harrodian economy, ICOR 15 4.5 : |, population growth 1s 2% per annum, and the
) Pop g P
investment rate 1s 27%. Hence the annual growth of per capita will be

(1y 23% ) 9%
(3) 6% @) 4%

Which among the lfollowing 1s not correctly matched 7

Author Book
(1y M. Friedman - Capitalism and Freedom
(2)  Amartya Sen  —  Argumentative Indian
(3)  Joseph Stiglitz —  In Detense of Globalization
(4)  Ruchir Sharma —  The Rise and Fall of Nations

Which among the lollowing statements 15 not true lor the Golden Age equilibrium in the
erowth modcl of Mrs. Joan Robinson ?

(1) Rate of proflit tends to rising.
(2)  Level of real wages rise with output per worker.
(3)  Technical progress is ncutral,

(4)y  Population 1s growing at a steady rate.
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For the Union Budget of 2015-16, arrange the following in the ascending order of their
percentage in GDIP ¢

(1 Revenue delicit (1) Elfectuve dehceit
(111}  Primary deficit (iv) Fiscal deficit
Choose the correct answer [rom the codes given below :

Codes :

(1) (un), (1), (1), (iv)

(2)  (u) (u), Ov), (1)

(3) (1), Gv), (i11), (i1)

(4y  (v), Q) (), ()

While recommending horizontal distribution, which ol the lollowing criterion got the least
. M - . .. .
weightage by the 14" Finance Commission ?

(1) Demographic change (2} Area
(3} Population (4)y  Income distance

It in a vear, the gross fiscal deficit of Government 1s ¥ 3,00,000 crores, revenue deficit is
T 1,350,000 crores and interest payments are ¥ 80,000 crores, which of the following 15 the
primary deficit of the Government in the year 7

(1y 370,000 crores (2) ¥ 23,000 crores
(3) ¥ 2.20,000 crores (4y T 1,530,000 crores

As per proposals of Union Budget of 2016-17, which of the following tax contributes

maximum share out of total tax revenue collection ?
(1y Corporation tax (2)  Umion Excise Duty
(3)  Custom 4y  Income Tax

Concepts of concentration and displacement cttect in public expenditure arc attributed to
(1) Allen T. Peacock and Jack Wiseman

(23 A.R. Prest and ILM.D. Little

(3)  A.C. Pigou and J.K. Mchta

(4)  Kenneth Arrow and Paul A. Samuelson
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Which one of the following statements is true tor the Verdoon's law 7

(1Y Long run productivity gencrally grows proportionally to the squarc root of output

growth.
(2} Short run productivity gencrally grows proportionally to the growth of output.
(3)  The value of Verdoon’s coellicient 1s nearly equal to 1.

(4)y  Verdoon's law 1s quite in consonance with Solow model’s functioning.

Which among the following can contribute to improvement n industrial chimate of the

region 7

(1) Development banks (2y  Trade unions

(3)  Natural resources (4y  All of the above

Researchers mdicate that imcome velocity of money 1s falling overtime due (o
(1} 1ncome clasticity of demand for money is grcater than unity,

(2y ncome elasticity of demand for money 1 less than unity.

(3) mcome elasticity of demand for money 1s equal to unity.

(4y  All of the above

According to Monctarists, demand for money function is
(1} stable and interest inclastic (2)  constant and interest elastic

(3) stable and interest elastic (4} unstable and mterest melastic

Arrange the following hiquid assets in decreasing order

(a)  Timc deposits (b)  Saving deposits
(c)  Currency (d)  Demand deposits
Select the answer from the codes given below :

(1Y d,a.b,c (2) c¢,d,b,a

(3) a,b,dec i R R
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Match the following :
List -1

a.  Alfred Marshall

b. Irving Fisher

c.  Robertson

d.  Keynes

i,

11,

V.

List - I
M = PKT
M = PKY
N = PK
MV = PT

Select the correct codes given below

Codes :

a b C
(1y 1w i 11
(2) no1v i
(3} i 1 11

) i i v

In his theory of money, James Tobin did not agree with which of the following inferences/

assumptions ot the demand for moncy for liquidity preference cnunciated by Lord

Keynes 7

I Elasticity ol expectations ol future mterest rates

d

11

1]

I, Individuals hold either money or bonds

Ol the above which are correct 7 Answers [rom the codes helow

Codes :
(1) OnlylI
(3) BothIandII

(2) Only Il
(4)y  Nerther I nor 11

A population pyramid ol a country shows the :

(1) age structure of male and lemale population

(2)  age structure of male population

(3) agc structure of female population

(4) age structure of rural and urban population
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[T the actual unemployment rate 1s below the natural rate of unemployment, it would be
expected that

(1
@)
(3)
(4)

the rate of iniTation would mcrease.

wages would fall,

the Phillips curve would shift to the right.

the natural rate of unemployment would fall.

Demographic transition means

(1)

(3)

(4)

Shift from the condition of low birth and high death rates to high birth and high

death rates.

Shift from the condition of high birth and high dcath rates to low birth and low death

rales.

Shift from the condition of high dcath and low birth rates to high death and high

birth rates.

None ol the above.

In the context of International Trade dumping relers to

(1)
2)
(3)
()

Free distribution of used products by developed countries in developing countrics.

Selling a commodity cheaper i foreign market and costly in domestic market.

Sending cheap goods to developing countrics by developed countrics,

None of the above

Match List — I with List — II and sclect correet answer from the codes given below

List -1
a. Intcrnational Monetary Fund 1,
b. International Bank for Reconstruction i,
and Development

¢. International Development Association 1L
d. International Finance Corporation v.
Codes :

i b ¢ d
(1y i i i iy
(2) i I v
(3) i v i il
4 1 v il 1

List - 11
Lending to private sector

Balance of Payments problems

Solt Loan to poor countries

Socio-economic inlrastructure
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40, I ATEATIF FUSHIRT T ST 61 AT 57 9 =) & & IF Terel =61 S &

41.

42.

43.

(1)
(2)
(3)
(4)

TR 1 5T F277 |
u.r-\!'\_ LY ™, l

SRISTTRI Sl ATeRTae 3T J |

SIS R TaaUT 6T 2TT0E 7

(1)

(2)

(3)

(4)

ECGI

I I T AW 3T U 9T ) (i ¥ I I oI FE T ¥ 0 el @ eI
ezl |

" -

SRREH Tr"@raﬂ"?{:fﬁ l

STRTEE IR & e T 12T (SFET) 1 AR ¢

(h
(2)
(3)
(4)

=

TareRTareT SO §TT U ¥ N0 0 Se1ET 1 Tershrerenie] <97 ¥ o Taedor |

TR a T TaseT d Wl 37T Be] 9T | Hedll 5T |

ferepiaa 5o g1 Tasrrawier 590 O W3l sl T |

dqﬁqai aa. .{5 in |

AT — [ 30 GAT — [ & A gAY 3T A 70 T 62 0 F Tl S 0 =204 &

il.

by.

(h
(2)
(3)
(4)

) ~

T — 1 T — 11

kA

ST TR Ty [ TSI AT T IER ST

SECIIFOl o R WeRge®I ji A daerd S

g SaoTdHe

SITINE SEelIHS UAMIUI 55, &9 297 & 2 9160 97 30
(FTF &)

SRR o lv. TSR 3T ST

a b g d
1 ] 111 1%
1 11 v 1l
i 1v I 11

1] S VY ]
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49,

0.

A deficit in balance of payments can be corrected by

(1} arcduction in interest rate (2) discouraging capital inflows
(3)  anncrease n mterest rate (4} restricting remittances

In the termmology of WTO, which among the lollowing 1s not an amber box subsidy 7
(1} Minimum support price of ccreals

(2} Subsidy on seeds

(3)  Subsidy on irrigation ratcs

(4y Costof government pest control and management

The weight of manutacturing n old IIP (basc 1993-94) was 76.36% which has now been
changed in the new 1P (base 2004-03) al

(1Y 75.353% (2)  Unchanged at 76.36%
(3y  T8.22% (4y 79.39%

Which of the following agricultural holdings have largest percentage in India ?

(1y Marginal Holdings (2} Small Holdings
(3) Large Holdings (4)y  Scmi-Mcedium Holdings

First two States/Regions in India having highest vield of rice in 2013-14 were
(1} National Capital Territory of Delhi and Punjab

(2} Punjab and West-Bengal

(3)  Andhra Pradesh and Haryana

(4y  Punjab and Uttar Pradesh

Which among the lollowing rates 1s independently determined mn India ?
(1} Reporate (2)  Reverse repo rate

(33 Both(l)and (2) (4) Neither (1) nor (2)

The main objectives of the 12" Five Year Plan arc
(1) mclusive growth and poverty reduction

(2) nclusive and sustainable growth

(3)  Faster, sustainable and more mclusive growth

(4)  Sustamable and inclusive growth to reduce poverty and unemployment
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44, A TAEH ¥ G912 H HEGEEE B ¥ TR 31 W@ AT ST T 8 7

(1) = 5T F T (2) UST A F FaAed HE
(3) =S ECH g (4)  Terwcor UT HfcrEs ST

45, Tavd =N e & vEmdel] O FEeidd O O s 97 91 Ulesh] T9aEdl 78] & 2

(1) 37T 1 e THd 77

(2) @I W SRR

(3) Ta=mE 50 W UerEREE
(4)y HEH 71 i T30 ST gEee o

46, YL SRS ST ek (HER 1993-94) 7 faf7or &1 9 76.36% o1 S A0 SR
3CATET FAFHF (BAHER 2004-05) F T8TF T TE |

(1) 7553% (2)  76.36% TT IR
(3) I822% 4y 79.39%

47. AT § ¥ S FH ST 9T T Faiies 9iaed 7 g

(1y e =T (2) o7 S
(3) =g A (4)  AE-gem (T miead) S
48,  FU 2013-14 T 9T T Y S TANIF SeNEHal ool TIH &7 T9/877 q |

(1 4_|u;f'|q T 873 TRl 3T et
(2) ST A ufvER e

(3) =Y TRw 3T Bl

(4) T AR TR U

49, frafeiEd & F SH-9 535 IR ¥ W@ad €9 F 6 gt 6% 7
(1) W (2) T T

50, 123 deEdTE 9IS & gET YT T

(1) e fashrg 31T e § a7 o T |

(2) HHEET AR gad fempeT |

i

L)

(3) ST, AT AT AT ATH TR R |

8]

(4)  TRET 3R ST &5 % 39 9ad 2T Tes) @@ |
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51. Match List — I and List — IT and sclect the correct answer from the codes given below

List —1I List — II
(Index) (Base Year)
a. BSE Scnscx . 2012
h. NIFTY u, 2001-12
c. CFI . 1978-79
d. GDP v, 1995
Codes :
a b C d
(ry m v ] 1l
(2y  1v il 1 1

3y v i i i
@ i i iv i

52, As per 2013 mlormation, arrange the following States 1 the decreasing order of inlant
mortality ratc :

I. Uttar Pradesh I[I.  Rajasthan
[T1I.  Madhya Pradesh [V. Odisha
Answer [rom the code helow :
el HLE%. 1.1l (21N
(3y LILIIL IV 4y IO I, IL, IV
33.  Which of the following arc not considered as flow variables in economic analysis 7
{1y Supply and demand (2} Saving and investment
(3)  Moncey supply and public debt (4)  Exports and imports
34. It the Rescerve Bank of India wishes to decreasc the moncy supply, it should
(1) rasc statutory liquidity ratio (2)  buy trecasury bills in the open market
(3)  rase the discount rate (4} lower the reserve requirements
55

v Which of the following 15 included in M 7

(1} Savings dcposits
(2y  Demand deposits
(3)  Gold stock

(4)  Assets under money market mutual funds
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33.

tn

tin
tn

1.

2.

£ N e | N ooy s 1 1 = s | o o M el (e i e e e - e e oo R N e o
T=h - 1 = — 11

o =

GREIED) (ST =)
o, SUFTEIF i 2012
b. AT i, 2011-12
c. 9 3IME . 1978-79
d. SrErm iv. 1995

(0 iioiv i i
(2)  ivoodi 0 i
Gy iv i i il
@ i i iv i

a9 2013 & TaT & STER, 719 9 &3 % 92 gU T 0 MEieiad 191 1 50 950

[ ST URY [, T

. T U89l V. afrsem

T BT T Fe T ST

(1y LIV (2) IV LI T
) LILILIV 4) ULLILIV

e | © e A T Sn1aes fareeior | Yae =T 1 "= ST § 2
(1) ofq o g (2) F9d 9T e
(3)  HET Oid T QrESTE T (4y  TTETT qar 2

=Tel &1 51 2AT9d 92 980l 6, 36 =g o § 597 ] =180 9
(1) ereni-Tsh e ST i S =My |
(2) T IR 9 2R &6 TEHT Aa |

(3) @81 7T ghg FHA T8 |
(4) 22T T T HET

M, T e 5 € HF 9 e e E
(1) =@ =

(2) H S

(3) 0T HER

(4) TE1 IR T3 g % 3T e
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S

39.

Arrange the following committees appointed in India in the chronological order :

I Urjit Patel Commitlee 1. Goipuria Commitlee
[II. Narsimhan Committce [V. Chakravarti Committee

Answer [rom the codes given below :

Codes :
(ly LI I TV 2y IVUIL IO
gy LT LY 4y IL IV, I, III

For the following policy rales (as on 30.9.20106) of the RBI, arrange them m the

descending order of their magnitude and select the answer from the codes given below

I Bunk rate .  Repo rate

I1I.  SLR IV. Rcverse Repo rate
Codes :

(1y TILIL IV, I (2) gibl, T 0N H

3y LJIL HLIV (S AV 4 1] WS

Arrange the following climate events in chronological order :
I Kyoto Protocol

I[I.  Earth Summit

I, Bali Summit

Answer Irom the codes below ;

Codes :
(1y 11, 1, 111 2y R
3y HELH (4y I, 11, III

The single window system in the Cooperative Scctor coordinates
(A)  Supply of rural credit

(B} Supply ol agricultural mputs

(C) Extension of marketing tacilities

(D) Creation ol warehousing factlites

Sclect the correet answer from the codes given below

Codes :

(ly A&B (2) AgB & D

3y AB&C 4y C&D
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3.

wF . —~ | T L wk = o
HIA H TS TN T HTHETTET bl ShleTsh JTTHT =10

[ 3o oo gl [, TIEEEr |
U1 RawET 9 V. =REdT |

9 RU MY %2 7" I

E A

Ly Lol LL.I¥ (2) 1V, I, 111, ]
(30 [lpls sV (4y 11TV, 1, 100

WA RS/ & 61 FETetiaE =i 237 (30.9.2016 % ST & 70 3% 36 THT0T o 924 69

T {31 i 15U 70 21 § ¥ T8 3T 1 =97 6 ;
[ T . =T
. TF T AR v, e ey

B TR 2y UL LV, 1

(3) LI, I IV (4y I, LI IV

-

AT STotars] Hae] Tt &1 3 ST HaN To
. 27 §Ee

(1. =l 9

T U T 2 6 IR

A

(1) 10,1, 1] (2) 11, L, |
3k LI II (4) 1,10, 101

TEHILA] 4331 H Ushed TS YU (95T 0 H [0 T8 &l & ©

(;’\) L ]:T 1 ﬂ?n-l— ?:l_ ey :i\rﬁi-
(B) B SARET I AT
() fagur glermat & fowr

(D) ITENTR giarat = Ao
A 70 T T W T SO T

A

=

(1) A 3B (2) A, B,C 3D

(3) A, BIRC 4) CaRD
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Consider the following rcasons of continuous decline 1tn average land holding size 1n India ;
(a) Farm mechanisation (b)  Consolidation
(¢) Desire of land ownership (dy Law ol inherttance

Sclect the correet answer from the codes given below

Codes :
1y a b.c (2) ab,c&d
(3) byc&d 4y c&d

The questions (Q. No. 61 — 65) given below are two statements labelled as Assertion (A)
and Reason (R). Select your answer to these questions using the codes given below :

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)is true, but (R) 1s talsc.

(4y  (A)s false, but (R)1s true.

Assertion (A) : An improvement in the income terms of trade 1s an indicator of increasc
In capacity 1o import.

Reason (R) : Income terms of trade can be computed by multiplying nct barter terms of
trade by the quantity ol imports.

Assertion (&) @ Industrial development strategy 1 India 1s faced with the choice of scale,
size and mtensity ol lactor use.

Reason (R) : Factor imbalances and resource tflows are not favourable to sustamable
industrial development in India.

Assertion (A) @ Agncultural production 1s characterised by growth and stability in
India.

Reason (R) : There are marked inter-regional and mter-crop variations in larm production
in India.

Assertion (A) : Regional Trade blocks hinder Iree mternational trade.

Reason (R) : They discriminate against non-membcer countrics,

Assertion (A) : A progressive mcome lax 1s based on equimarginal sacrifice.

Reason (R) : Higher the income, lower will be the marginal utility of moncey for the tax
PUayers.
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TR T SO ST o T G TR F A B O fEr

.

(a) M H T (b) FFEE

(c) Y-TAe H To9 (d) STNEHER H HIA
A few T F2 0 W TRl IR A 99T
FT :

(1) a,b,c (2) a, b, c 3T

(3) b, ¢ 3T (4) ¢ 3T d

(U7 G, 61 — 65) T T FUF U M0 F 9 U AR (A) © 2T TE A% (R) | U9l 6

(1) (A) 3R (R) BF1 W8T € 3T (R), (A) ¥ T2 2T & |

(2)  (A) 3R (R) 3F1 WET &, g (R), (A) T Te1 AT 72 & |
(3)  (A) TR, U] (R) T/ & |

(4)  (A) TR E, U (R) WETE |

SATTHAT (A) : ST 1 277 Al § TR A1 137 61 9aq7 § ghg 1 o ear ¢ |

% (R) : SR & Uehel a&d-a9g I1T T 3T 61 A F O Feh R HI TR 9T &
RIGRERIRSIREE TSI

STTWERT (A) + WIRT | SiTTeR TaerTe L0731 TS S UEE. SR 27T T A ki g
T g T TS E |

T (R) ¢ T AT A AT Folle A F T A (G618 F feIy S5 T8 € |

T (A) 1 TR T FT ITEA & o740 [T 27 SR & |

T (R) ¢ ¥RA T HY AT H PIL & ¥ -7 ST SAC-Fed] T orar Sy & |

AETT (A) 1 & AR =A% Yo S &R H J49F § |

T (R) ¢ T LT 297 & 919 Heve e & |

ATTHLT (A) : W 2R GH-HMET 0 T 3T g & |

e (R) 1 377 TSIl AT B1eil & SIsTdl o felt] HET ! AT U Sl 4 gial & |
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The production function Q = 150 L% K", exhibits the returns 1o scale as

(1} Constant (2)  Increasing
(3) Deccrecasing (4)  Fluctuating

In an open cconomy Input-Output model, A 1s the input-coctficients matrix, the viability
condition to be satished 1s

() [I-Al#0
(2) |I-A|>0
(3 [I-A|<0

(4} All principal mmors ol the matrix (I — A) must be positive.

Match the following :

List -1 List = 1T
a. Granger Test . Auto-corrclation
b.  Dicky-Fuller Test . Causality
c. F-test 1. Stationarity

d.  Durbin-Watson “d” test  1v.  Overall significance of regression
Codes :
a b C d
(ly AU
2y v i il i
(3) A VST | N A
4 1 om iv

Indirect least squares method ol estimaton 1s apphied to equations ol a simultaneous
cquation system. The estimates so obtained will be

(1) Unbiased and consistent 2y Biased and consistent

(3}  Biasced and inconsistent (4)  Unbiased and inconsistent

Given the following total cost and demand functions of a tirm, find the price at which
profits would be maximised :

C=5Q%+20Q+ 10
P =100 - 3Q
Where C = Total cost

Q = Output
P = Priag
(1) 95 (2) 85

(3) 100 4)

A
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I~

ZeIE e Q = 150 L™ K Feieriad O ¥ 158 TR o TE S SiaTheT WETRT AT § 7
(1y Ter olawa (2) grEEE

(3) T (4) =TFEA T

(.7

ferelt TyafeT SreaaredT STa-FITa Aigel § A HAIA-10Te "z &, saegdan fefa fFefafea 7 9
FepErahl EACE LT 2

(1y 1= Al =0

2y [T=A[>0

() [1-Al <0

(4) T (1 - A) = vl T IU-TRI0E G-TeTs g

r

AT 1 GHieTd &Y :

Tl - 1 T 11

A TST ey . -
b. TEFRI-Ford TIET it
. [-qgierr i, ferEan
d.  TRET-EEE A WO jv,  FHIEE0T H G TEE
E A

> b C d
(1) 1 i v i

(2)  ivo i i
3y i i i v
4y i i v

3TTHET Tl 3T =JAaH @1 fae 1 WART e 0T FOTell 35 HHRLON & [0 Tehar S
& | 38 TR T U AT Rl

(1) e & (2)  aATEa i T
(3) AN TR e (4y SRS T 2T

STERTH 2T |
C=50Q°+200 + 10
P=100-30Q
Q = 3T
P = ST
(1y 95 (2) 85
(3y 100 4)

N
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X

0 F 3 B
Constder the above diagram ol a linear programming problem. Il the optimum solution 1s
at point A, then the slack variable(s) corresponding to which constraint(s) is/arc non-zero ?

(1}  AB only (2y  ABand CD
(3) EFonly 4y CDand EF

In a two-variable regression Y is dependent variable and X is independent variable, If the
correlation coelficient between Y and X 15 (.7, then which one ol the following result is
correct 7

(1} 7% variations in Y arc cxplaincd by X,
(2y  70% vartatons i Y are explained by X,
(3)  49% variation in Y arc cxplained by X.

(4)  0.7% varnatons Y are explained by X.

Kovek’s approach to cconometric analysis deals with relationships involving
(1} lLagged explanatory vartables

(2)  Qualitative explanatory variablcs

(3)  Exponential explanatory variables

(4)  None of the above

For the demand function P = 10 — 2x — 0.5 x%, what is price elasticity of demand at x =2 7
(1y  Zcro 2y 0.5
3y 1 (4) 1.5

In a regression with 3 independent variables and 20 obscrvations F valuc calculated 15 to
be tested. What will be degrees ol freedom for numerator and denominator m testing
proccdure ?

(y 2,18 (2) 3,17
) 3.16 @) 3.20
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0 E > B &

TeR Iger WA EET F S9EeE 3G W [OER HiET | afg §5 A W IRd9 g g, af
.J-: F~ :r a;\ rfﬂg ‘Wi 5\} v_EII— f\-rr—gﬁ::_ﬁ %—}.‘%—- "_}

(1) =haeT AB (2) AB AT CD
(3) =FA LT (4)  CD &R

a1 =R AT WY ST WY AR X Wad W E | AR Y 3R X % a0 We-wed O 0.7 8, @
T TEATeAEd O 3 & 97 ORI T § 7

(1) XEY ¥ 7% fagaa Sl =8 & ST ¢ |

(2) XEFWY 9 70% faae &l =Rz &1 Sl & |

(3) X EW Y 9 49% faae &l ==w &l Sm & |

(4) XFRY H0.7% Trae i san= ® S |

AT TITeAyoT ol ShTgeh ST Toheh Teel F e § & 9
(1) TEcAfET e =1

(2) TUNHE SATCHS =

(3)  =TEE S Y

(4) SugF H HE TE

T Her T P = 10 = 2x — 0.5 1= 3 160 v = 2 % O 9T OFT &1 H0d o= he=r 2/ 2
(1 = (2) 0.5

o

3) 1 @ 15

T 2797 27T BT & A0 e il <= gl 2
(1 2,18 (2) 3,17
(3) 3,16 4y 3,20
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